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ARVTHMETIC ProOGRESSIAONG

EM»\plcf

is 28, Find E'-;e— £ivit term a

©

TRANSCR\PT

The 4tk berm of am AP i 1L and the Ttk berm

) Ehe common di@&rmtd)

and Ehe som o€ the gk 10 terms S

4.&" teom  a + 34 =16 (1)
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Which term of tle Sequence 15, 18,21, 24,27, 30,

s equal to alg2 ?

Let nek Eerm = A152

> a4+ (h-)d = 4152
> 1S+ 3(n-1) = A&is2
= 3(rn=0 = 4152 =18
2 3(n-1) = 49137

% h=-1 = 4137

3

= n=\ = 1379

= n = 1374 +|
= " = 1330

S kthe |1180°%" term = 452
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EMMP'Q 3
T Which Eerm of the sequence 152, 145,138, 124 ...,

1s Ehe Livst VL'o have o V\eﬁan‘:ive, valve ?
az152, d=-7

Let ntk term- be Lot

gwelb 14 0

a + (n-0yd <o
152 =7 (h-1) <0
IS2 =~ +7 <0
IS2 +7 & Tn

1§59 < Twn

Tn 7 159
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n = 273
23*’0‘ berm is £int ne.sr.l'Ne term

TLou:lL\ not asked for I 7/ucsé-on) 23td Lerm would b

g2 =3(23-) = Is2 -Te2r = |§2—-1i54 = —2
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cm....,\3 gives John £10 on his st birthday and sn

each birtlula:‘ she %‘I\Iei him £$§ more Ehan Ehe

previeus L.’rtLAa:l, On which b.’rﬁMu] doeg the

Eobul amount Tohn hat recewed since bivth exceed £25sa?
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N + 3m — 106 SO
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=7 n =ﬁ
ALor smallest valve. of n
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